
PEDEGO Core 2.0/AWD  INSTALLATION

• PEDAL Quickrack (x1)
• M5 x 45mm Hex Bolt (x1)
•
•
•

Included in the package:

 

QuickRack for PEDAL Core 2.0/AWD

© 2024 earth + kin™visit earth-kin.com/contact for help!

 M5 x 20mm Hex Bolts (4x)
 M5 Locknut (1)
 M5 Hex Key (x1)

Before towing it carefully review the 
Safety Guidelines in your Owner’s 
Manual.  Failure to do so could result 
in SERIOUS INJURY or DEATH.      

The MULE is a wild animal!
WARNING

1 Remove PEDAL battery.  Align central mounting hole of Quickrack with the rear of your 
PEDAL seat.  Thread M5 x 45mm bolt through Quickrack through bike frame and secure 
locknut.   

2 Insert 2pcs M5 x 20mm bolts through the Quickrack and into side mounting holes on 
bike frame.  Repeat x’s 2 on opposite side of the Quickrack.  Don’t overtighten.

MULE Weight Capacity Limit - 100lbs 
Speed Limit when towing - 5mph


